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Part A

Section Id : 686340285
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 21
Number of Questions to be attempted : 21
Section Marks : 100
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 686340477
Question Shuffling Allowed : No
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Question Id : 68634014383 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension
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Sub questions

Question Number : 1 Question Id : 68634014384 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TR TR & SIYR WX 53 ardi fial Ao &1 [y [den & Fae ©
1. R

2. gR&xH
3. 9y
4. BEHl

Options :

68634056801. 1
68634056802. 2
68634056803. 3
68634056804. 4

Question Number : 2 Question Id : 68634014385 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TR TR & SFTER Sl aTdl o fore o7 SiHand § 2

A, OB, YAl g e
B. SIYTRII, TRadl, 9yl
C. Tfde

D. A 2y

E. §91d¢

A feu Y fawedt # ¥ Tel 3R &1 90 Siford -
1. $ad A
2. $au B
3.%dd CJE
4. PATATE

Options :

68634056805. 1
68634056806. 2
68634056807. 3
68634056808. 4

Question Number : 3 Question Id : 68634014386 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TR TR H STl Wreg ' 2ieh ' & foTT o149 e Wga 53T § 2
1. I
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IR Sl
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4. faem

Options :

68634056809. 1
68634056810. 2
68634056811. 3
68634056812. 4

Question Number : 4 Question Id : 68634014387 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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4. T4, 49U 9 Wyl & fau

Options :

68634056813. 1
68634056814 2
68634056815. 3
68634056816. 4

Question Number : 5 Question Id : 68634014388 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634056817. 1
68634056818. 2
68634056819. 3
68634056820. 4

Question Id : 68634014383 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension
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Sub questions

Question Number : 1 Question Id : 68634014384 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TR TR & SIYR WX 53 ardi fial Ao &1 [y [den & Fae ©
1. R

2. gR&xH
3. 9y
4. BEHl

Options :

68634056801. 1
68634056802. 2
68634056803. 3
68634056804. 4

Question Number : 2 Question Id : 68634014385 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TR TR & SFTER Sl aTdl o fore o7 SiHand § 2

A, OB, YAl g e
B. SIYTRII, TRadl, 9yl
C. Tfde

D. A 2y

E. §91d¢

A feu Y fawedt # ¥ Tel 3R &1 90 Siford -
1. $ad A
2. $au B
3.%dd CJE
4. PATATE

Options :

68634056805. 1
68634056806. 2
68634056807. 3
68634056808. 4

Question Number : 3 Question Id : 68634014386 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TR TR H STl Wreg ' 2ieh ' & foTT o149 e Wga 53T § 2
1. I
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4. faem

Options :

68634056809. 1
68634056810. 2
68634056811. 3
68634056812. 4

Question Number : 4 Question Id : 68634014387 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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X ot R g o a0 3 g e, PRUND, BRI Fhu
Bidt § 3R Ue & o et & fg el e

1. T4, 91 4 fora- & fen
2. wf, IR g forgq & fom

3. UHROL, ST G G4 & ey

4. TYY, 44U § Wydl & fau
Options :
68634056813. 1
68634056814. 2

68634056815. 3
68634056816. 4

Question Number : 5 Question Id : 68634014388 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
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Options :

68634056817. 1
68634056818. 2
68634056819. 3
68634056820. 4

Sub-Section Number : 2
Sub-Section Id : 686340478
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 68634014389 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



4. -

Options :

68634056821. 1
68634056822. 2
68634056823. 3
68634056824. 4

Question Number : 6 Question Id : 68634014389 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

' AT eg BT fAdH Uss & -

1. T
2. Tyt

3. fa7rd
4. -

Options :

68634056821. 1
68634056822. 2
68634056823. 3
68634056824. 4

Question Number : 7 Question Id : 68634014390 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



' U5 Y I S aTell BIUOR ' & U U Yec §

A 3
B. I
C. YTal
D.dg
E. dgq®
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3.%adCdD

4. PAAATE

Options :

68634056825. 1
68634056826. 2
68634056827. 3
68634056828. 4

Question Number : 7 Question Id : 68634014390 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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3.%adCdD
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Options :

68634056825. 1
68634056826. 2
68634056827. 3



68634056828. 4

Question Number : 8 Question Id : 68634014391 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fFafafad # ¥ dwa s 31 997 DI

L. sl
2. &yl
3. 71Gl
4.q0s

Options :

68634056829. 1

68634056830. 2

68634056831. 3
68634056832. 4

Question Number : 8 Question Id : 68634014391 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
frafefed 5 ¥ dmg s &1 907 DY

L. s
2. &yl
3. 71Gl
4.q0s

Options :

68634056829. 1

68634056830. 2

68634056831. 3
68634056832. 4

Question Number : 9 Question Id : 68634014392 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



:
?

4. Gy

Options :

68634056833. 1
68634056834 2
68634056835. 3
68634056836. 4

Question Number : 9 Question Id : 68634014392 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T HIfgada s
1. Efe
Y fa=sg

o

| ]

L]

4. Gy

Options :

68634056833. 1
68634056834. 2
68634056835. 3
68634056836. 4

Question Number : 10 Question Id : 68634014393 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

G U=

1. §9d

| ]

.gqd

4. 99d

Options :



68634056837. 1
68634056838. 2
68634056839. 3
68634056840. 4

Question Number : 10 Question Id : 68634014393 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

G U=

1. §9d

| ]

.gqd
3. g8
4. 99d

Options :

68634056837. 1
68634056838. 2
68634056839. 3
68634056840. 4

Question Number : 11 Question Id : 68634014394 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

| 0289 mrpme.
N0.00121

o]

g, 110
21
Options :
68634056841. 1
68634056842. 2
68634056843. 3
68634056844. 4

Question Number : 11 Question Id : 68634014394 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

o]

g, 110
21
Options :
68634056841. 1
68634056842. 2
68634056843. 3
68634056844. 4

Question Number : 12 Question Id : 68634014395 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U HYH P alliep SfaHea & 15% o) AId HRIH BT aaHH e 21.50.000 § A 2 TY U SHPT 4
1 B 2

1. 21.00.,000
2. 2108375

3.%1.58.000

Options :

68634056845. 1
68634056846. 2
68634056847. 3
68634056848. 4

Question Number : 12 Question Id : 68634014395 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Ue HF 1 d1f¥iep SaTeaH & 15% g afe HelliA &1 aaH el 21.50.000 § ol 2 99 9T 5961 e
T8I 2

1. 21.00.000

| )

. %1,08.375
3. 31.58.000
4. 372250

Options :

68634056845. 1
68634056846. 2
68634056847. 3
68634056848. 4

Question Number : 13 Question Id : 68634014396 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

l¢ foril o &1 o8 Yoo S [dhy el B1 88% o, dl 1Y UIc=Td GHT : (G¥HEd o &l | o 9gh)

1. 18.20%
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—
o
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[=]
o

3.15.28%
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Options :

68634056849. 1
68634056850. 2
68634056851. 3
68634056852. 4

Question Number : 13 Question Id : 68634014396 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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L
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4. 13.64%

Options :
68634056849. 1



68634056850. 2
68634056851. 3
68634056852. 4

Question Number : 14 Question Id : 68634014397 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U §9 Ugd 12 [HHE 30 knwh D11 O Fd! § TUT AT 8 BT 45km/h B & Fad! o | G A= o &9
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1.30

b2
faa
L

3. 36
4. 40

Options :

68634056853. 1
68634056854. 2
68634056855. 3
68634056856. 4

Question Number : 14 Question Id : 68634014397 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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b2
faa
L

3. 36
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Options :

68634056853. 1
68634056854. 2
68634056855. 3
68634056856. 4

Question Number : 15 Question Id : 68634014398 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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ONTg 8% dI © 2

1. 162 cm?

| o

. 180 em?
3.216 em?
4. 240 em?

Options :

68634056857. 1
68634056858. 2
68634056859. 3
68634056860. 4

Question Number : 15 Question Id : 68634014398 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. 162 cm?
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180 em?
3.216 em?
4. 240 em?

Options :

68634056857. 1
68634056858. 2
68634056859. 3
68634056860. 4

Question Number : 16 Question Id : 68634014399 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



£ HTegel H 4T T Juw Ui ¥ SR qeTd PIad 3@ 4 U@ &R [iaHiia o= 9ea o

01|32 5| 4 516|789
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Teq "SOAP" & o1l Tl e ol UgaH o |
1. 01.03.79. 85
2.22,13, 59, 86,
3.22.20,97, 98
4. 22, 20, 86, 85
Options :

68634056861. 1
68634056862. 2
68634056863. 3
68634056864. 4

Question Number : 16 Question Id : 68634014399 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Teq "SOAP" & o1l Tl e ol UgaH o |
1. 01.03.79. 85
2.22,13, 59, 86,
3.22.20,97, 98
4. 22, 20, 86, 85
Options :

68634056861. 1
68634056862. 2
68634056863. 3
68634056864. 4

Question Number : 17 Question Id : 68634014400 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634056865. 1
68634056866. 2
68634056867. 3
68634056868. 4



Question Number : 17 Question Id : 68634014400 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TR 1T | [ Byei s 2

| )
[y
| )

4.6

Options :

68634056865. 1
68634056866. 2
68634056867. 3
68634056868. 4

Question Number : 18 Question Id : 68634014401 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Prafed el 8 @ g 3 SroRy () ofd: IR 2 2

B (x)

ZAN
| %
Wi
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4.
Options :

68634056869. 1
68634056870. 2
68634056871. 3
68634056872. 4

Question Number : 18 Question Id : 68634014401 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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B (x)
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| %
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4.
Options :

68634056869. 1
68634056870. 2
68634056871. 3
68634056872. 4

Question Number : 19 Question Id : 68634014402 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634056873. 1
68634056874. 2
68634056875. 3
68634056876. 4

Question Number : 19 Question Id : 68634014402 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634056873. 1
68634056874. 2
68634056875. 3
68634056876. 4

Question Number : 20 Question Id : 68634014403 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634056877. 1
68634056878. 2
68634056879. 3
68634056880. 4

Question Number : 20 Question Id : 68634014403 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



o T 9 0 Ta9 ol o i & STl R a1 ol 98 § 2

A. T, 9R, SORTE
B. GTE0fd, 3Tef, Tt

C. TR, e, Tul

D. URAR, 9fd. gal

E. 99, 9w, fad

At fau U faw eyl O 9 Tel ST &1 99 By ;

1. HATA.B. C
2.%dd B.C.D
3.%ad C.D.E
4.%ad B.D.E

Options :

68634056877. 1
68634056878. 2
68634056879. 3
68634056880. 4

Question Number : 21 Question Id : 68634014404 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Y& IR &1 98 HegUT e d e YRd §R1 814 of H X180 {61 7. § -
1. gdiI
DAY
faer-1
4, A1
Options :
68634056881 1
68634056882. 2

68634056883. 3
68634056884. 4

[

L]



Question Number : 21 Question Id : 68634014404 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Y&H IR &1 98 V&Yl e d e YRd §R181d of H I8 fa1 4. § -
1. gl
RS i AY
3. foE-I1
4. Hig-1
Options :
68634056881. 1
68634056882. 2

68634056883. 3
68634056884. 4

| )

Question Number : 22 Question Id : 68634014405 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

“Hfaiad & I fog I o aa Tl 3R Al Wmﬁ e (Land of Red River and Blue Hills) E
SRIEEN IR IESIG] % ?

1. AHH

e
TR

4. SBUMA UGl

| )

L

Options :

68634056885. 1
68634056886. 2
68634056887. 3
68634056888. 4

Question Number : 22 Question Id : 68634014405 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



“Hfaiad & I fog I o aa Tl 3R Al Wmﬁ e (Land of Red River and Blue Hills) E
SRIEEN IR IESIG] % ?

1. 399
Tfewn

 HOgR

4. DU UGQ

[

L]

Options :

68634056885. 1
68634056886. 2
68634056887. 3
68634056888. 4

Question Number : 23 Question Id : 68634014406 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
d IUYYH T D1 A S e a1g T YRd & Uy W gU o
1. dio dlo fiig
ORI &8
gdist
. ATe S8TgR Tl

| )

[#5]

=

Options :

68634056889. 1
68634056890. 2
68634056891. 3
68634056892. 4

Question Number : 23 Question Id : 68634014406 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



d I9-Hy™ T B9 4 9 & 916 I YRd & wuH HH g 2
1. dto dlo f3ig

ORI &HTg

SdTrST

. ATd SETGR Tl

[ ]

L]

=S

Options :

68634056889. 1
68634056890. 2
68634056891. 3
68634056892. 4

Question Number : 24 Question Id : 68634014407 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FafaRad ¥ ¥ ®H I odg-UeaR d@-1d Jored Ied § &F § @6 ol 8 ?

1. PEN
. @liery

3.dIe

[

4. JAlglTy

Options :

68634056893. 1
68634056894. 2
68634056895. 3
68634056896. 4

Question Number : 24 Question Id : 68634014407 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fgfafaa § 9 oF 9 Ta-02eR de-id e[ Ied § S H 6 ol 8 2

1. DN
e

| )

Options :



68634056893. 1
68634056894. 2
68634056895. 3
68634056896. 4

Question Number : 25 Question Id : 68634014408 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

@ﬁfgﬁﬂfﬂﬂ’f@ﬁ (Khelo India Youth Games) :
A. IR TR TR 5 Wil 51891 Wpal Ta & =719 Y ST i1l 41 3R &1 Hawl 7 Gei oird & o
Ted 17 74 ®1 31 9 H. Thal OF 3R 21 T4 Y HH 3G B Hlcisl & O |
B. Wall S1SU1 gaT Wl &l YAy Hag 1 & SR TeRIY - Wal 5hsdm gy 719 2023 Sl
C. §RaTom Uyw Iy YT forg= Wl Sfear gy T Sifdn
D. Wail $F$T1 gy 71T 2023 i  §U9 50|
frd fau g faweal ® 9 el TR &1 99 Sifv/ -
1. $ad B, C 3R D
2. Had A, C 3R D
3. ®ad A B 3RD

4. HBAAA.BARC

Options :

68634056897. 1
68634056898. 2
68634056899. 3
68634056900. 4

Question Number : 25 Question Id : 68634014408 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



dal E-%Uf g4I W (Khelo India Youth Games) :

A, STETRE TR TR g6 Wall 501 e Wal & =19 F ST Sl U SR &1 Favl H @el ofrd 4 forge
T5d 17 79 B 314 9 HH. Thal OH 3R 21 T4 Y HH 1Y S Hids & O |

B. Wall S1SU1 ga1 Wl &1 YAy Hag | & R TeRIY - Wall 5fsdm gy 719 2023 St

C. gRATon Uyn Iy U1 forg- Gl Sfear g T Sifdn

D. Wil SF$T1 g 711 2023 i § §U= g0 |

e fau e fawedt & ¥ Tel SR o1 90 Siford -
1. %ad B, C IR D
2.%ad A. C 3R D
3.%ad A. B 3R D
4. Pad A. B3R C

Options :

68634056897. 1
68634056898. 2
68634056899. 3
68634056900. 4

Part B: Statistics

Section Id : 686340286
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 75

Section Marks : 300
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 686340479
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 26 Question Id : 68634014409 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



- ey a
The positive term sequence < a, > is such that @,y =————,a>0 , then

+dy,

1. < a, > is divergent

[ ]
A

- a, > 1is convergent and converges to a + —

Vda+1-1
2

3. <> 18 convergent and converges to

4. < a, > 18 convergent and converges to

Jda—1+1
2

Options :

68634056901. 1
68634056902. 2
68634056903. 3
68634056904. 4

Question Number : 26 Question Id : 68634014409 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YD TSl B ATHH < a, > TTUBR S (& a,. _1:; a>0 T9

n

1.<a,> 3UERI §

| )
M

< S WW%H‘HT a +%Wﬂﬁ-ﬁﬁﬂ@f‘ﬂ%

[F%]
i

R ot § aur —M;quﬂﬁ-mﬁﬂa?ﬁ%

=
A

&rrwra%w_”ﬂ;'” R SERE g 8

Options :

68634056901. 1
68634056902. 2
68634056903. 3
68634056904. 4

Question Number : 27 Question Id : 68634014410 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



-
L. -

lim
—* oo

[
|
-

+
M|'_‘

- +
*|s4-

-

b | =

L]
—_

4.

[ ]

Options :

68634056905. 1
68634056906. 2
68634056907. 3
68634056908. 4

Question Number : 27 Question Id : 68634014410 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

-

Options :

68634056905. 1
68634056906. 2
68634056907. 3
68634056908. 4

Question Number : 28 Question Id : 68634014411 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



x", x> 0. 1s convergent . if

The infinite series whose mth term is
3
i +1

1.1<x<3

[ ]
b | —

[
12
Y
-
lI\'.
o0

4.0<x<1

Options :

68634056909. 1
68634056910. 2
68634056911. 3
68634056912. 4

Question Number : 28 Question Id : 68634014411 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3T 9ot BT ratue 2=l x7 x>0 8. RER R, Ol

n +1

1.1 <x=<t3

[ ]
P | —

s
(o)
!
-
M
oo

4.0<x<1

Options :

68634056909. 1
68634056910. 2
68634056911. 3
68634056912. 4

Question Number : 29 Question Id : 68634014412 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



_ : , “y
The sequence < a,, = is such that @ P 04n=21and a e 2aspp—o0.If b_ =2 then
"

I
lim {bfhg- ...hy )1 is equal to

Fl—so

[ —
— |_;||._.|

Lad
Tad | =

|-

Options :

68634056913. 1
68634056914. 2
68634056915. 3
68634056916. 4

Question Number : 29 Question Id : 68634014412 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

PH<a,>FHUPRE P a, > 0¥ n=1dU a, > 2 F& n — 0.3 %:zaa

"

limn (b-b,-...b, i SRIER & -

==

P
b | —

| B
—

X
4
Options :

68634056913. 1
68634056914. 2

68634056915. 3
68634056916. 4

Question Number : 30 Question Id : 68634014413 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



u |
.- . #
’ 2 ;o oar — el
The positive term series E u, and E v, are such that y > then

o

—

: Zuﬂ convergent implies that z v, 18 divergent

| )

! Zuﬂ and Z 'L"rj are always convergent

L]

. Zuﬂ and Z v, always converge or diverge together

4. Zv convergent implies that Zu 1s divergent
H = " e

Options :

68634056917. 1
68634056918. 2
68634056919. 3
68634056920. 4

Question Number : 30 Question Id : 68634014413 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1

2.FIEf

TS Tal I AUt 3y U Yy @W%%:—”—»‘-

—

-3y, SR Sualad eRarg i Y v, SR €l

| )

Yy, qUT Y v, Wed AR €

L]

Yy, TUT Y v, Hed WYY SRR AT U B
4.y v, AR B SUadd pRaTe [ 3, ORI B

Options :

68634056917. 1
68634056918. 2
68634056919. 3
68634056920. 4

Question Number : 31 Question Id : 68634014414 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



a x+4
\ x+1
lim =

y—sm\ X+ 6/

| S

Options :

68634056921. 1
68634056922. 2
68634056923. 3
68634056924. 4

Question Number : 31 Question Id : 68634014414 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a x+4
\ x+1
lim =

y—sm\ X+ 6/

l.e”
2. 2¢°
2
3.2¢7
4. &>

Options :

68634056921. 1
68634056922. 2
68634056923. 3
68634056924. 4

Question Number : 32 Question Id : 68634014415 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



| —2cosx+cos2x _

lim
1=l X

| )
=]

3.1
4. 2

Options :

68634056925. 1
68634056926. 2
68634056927. 3
68634056928. 4

Question Number : 32 Question Id : 68634014415 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

| —2cosx+cos2x _

lim -
1=l b o

| )
=

3.%1
4.2

Options :

68634056925. 1
68634056926. 2
68634056927. 3
68634056928. 4

Question Number : 33 Question Id : 68634014416 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



rd

P NAT
lim | tan| = + x U‘ -
x—:rﬂl\ Y 4 g
1. le
2
2 —I(’\
2
3. e
4. -1

Options :

68634056929. 1
68634056930. 2
68634056931. 3
68634056932. 4

Question Number : 33 Question Id : 68634014416 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

|
p 1
C T

i X
Iim | tan| — + x ‘ =
x—0 \ ".,4 A

| ]
|
Lyt

B |

Options :

68634056929. 1
68634056930. 2
68634056931. 3
68634056932. 4

Question Number : 34 Question Id : 68634014417 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



g 2 \
.‘(’F+4}"’ (I,_}J};&(U,f}}
If /: R* — R is defined by f{x, L) = ngz .|_gy2 =91 =9 (L A (Ch 0)

-

A

Then the value of 2 so that f

is continuous at (0. 0) is

1.0

|
—

4. 18

Options :

68634056933. 1
68634056934. 2
68634056935. 3
68634056936. 4

Question Number : 34 Question Id : 68634014417 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

x% +4y° (x,¥)#(0,0)

A f: B - REAVPRIRUC R 1 (x, ) =1 2 +852 48] _9’(_“ )= (0,0) a9

-

A
A W £, (0.0) RI¥ad &

1.0

| ]
[y

4 18

Options :

68634056933. 1
68634056934 2
68634056935. 3
68634056936. 4

Question Number : 35 Question Id : 68634014418 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The number of roots of the equation Vi ( Jc') =y} —4x +1=0 that liec between 0 and 1 is

1.0

| )
ol

4.3

Options :

68634056937. 1
68634056938. 2
68634056939. 3
68634056940. 4

Question Number : 35 Question Id : 68634014418 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
B £ (x) = x* —dx +1=0 F e B Tl 0 7 1 & die femr 3. 8 -

1.0

| ]
—

4.3

Options :

68634056937. 1
68634056938. 2
68634056939. 3
68634056940. 4

Question Number : 36 Question Id : 68634014419 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



) 2
Volume generated by revolving ellipse 1r—q P

o

=1 about y-axis 1s:

2
ah

g | —

2

.
= mab”
=
2

b2

LFN]

] s b’
3

4, i na’h
3

Options :

68634056941. 1
68634056942. 2
68634056943. 3
68634056944. 4

Question Number : 36 Question Id : 68634014419 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a

e

y-3H&] & IR RP grhgd 2 4 2 _ | & IR gRI 9fHd Saa- 8 -
bl

2
wa“h

| —

2

.,
. =Tnab”
=
]

| S

LIFN]

. 2 Tab’
3

4, & na’h
3

Options :

68634056941. 1
68634056942. 2
68634056943. 3
68634056944. 4

Question Number : 37 Question Id : 68634014420 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Letd={(x.y.2).x>0.y>0,z > 0 and x + y + z < 1}. Then value of _UI(ST +8y +1 13) dxdydz is equal to:
A

[ ]

4.1

Options :

68634056945. 1
68634056946. 2
68634056947. 3
68634056948. 4

Question Number : 37 Question Id : 68634014420 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AMTA= {(x.3.2).x>0.y>0, z> 0T x+y+2<1}. 79 [[[(Sx+8y+11z) drdydz HTHH TG §
4

| ]

4.1

Options :

68634056945. 1
68634056946. 2
68634056947. 3
68634056948. 4

Question Number : 38 Question Id : 68634014421 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



J-Imﬂx ("\:‘ }") (i'r.\.‘aj.: =
00

[ ]
—

et | B2

3.2
3

Options :

68634056949. 1
68634056950. 2
68634056951. 3
68634056952. 4

Question Number : 38 Question Id : 68634014421 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ijnmx(x-y)du@::
00

[ ]
=

Lt | B2

.2
3

Options :

68634056949. 1
68634056950. 2
68634056951. 3
68634056952. 4

Question Number : 39 Question Id : 68634014422 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



.

3

; .
The length of the loop of a curve X = 2, Y=Ff—=—is:

L3
243
3.33
4 43

Options :

68634056953. 1
68634056954. 2
68634056955. 3
68634056956. 4

[

Question Number : 39 Question Id : 68634014422 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ah x:rz.yzr—% aa‘qqaﬁaﬁfrg%-

—

V3

243
343
443

Options :

68634056953. 1
68634056954. 2
68634056955. 3
68634056956. 4

[ ]

Lad

Question Number : 40 Question Id : 68634014423 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



jj min{'l-, _}'}dx({y -
00

[

et | 2

et |

=y
La | Ln

Options :

68634056957. 1
68634056958. 2
68634056959. 3
68634056960. 4

Question Number : 40 Question Id : 68634014423 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

jj min{'l—, }‘}d}ff{p -
00

o
|

|

=y
L | L

Options :

68634056957. 1
68634056958. 2
68634056959. 3
68634056960. 4

Question Number : 41 Question Id : 68634014424 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



H
%)
1=

2 5 6 7
Rank of matrix 18

36 8 9

4 7 9 10]
1.1
22
3.3
4.4
Options :

68634056961. 1
68634056962. 2
68634056963. 3
68634056964. 4

Question Number : 41 Question Id : 68634014424 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1 2 3 4
2 5 6 7 =
g SHIMAE -
36 8 9
4 7 9 10}
1.1
i
3.3
4.4
Options :

68634056961. 1
68634056962. 2
68634056963. 3
68634056964. 4

Question Number : 42 Question Id : 68634014425 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



2 1 &
. . . i n a2 L
If ¢ 0 e |issymmetric matrix, then minimum value of {b ¥ C)“ i { d+ e)” 1s
da 2 -3

4.8

Options :

68634056965. 1
68634056966. 2
68634056967. 3
68634056968. 4

Question Number : 42 Question Id : 68634014425 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

21 b

U | 0 o | THMT MG Q. TE (b +c) +(d +e)* PTIIHAAE -

4. 8

Options :

68634056965. 1
68634056966. 2
68634056967. 3
68634056968. 4

Question Number : 43 Question Id : 68634014426 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



1 -1 2
IFA=|2 3 4|and A} =.-:l'ﬁ2 HBA + I thenvalue of a0 — 2B — 3y. is
1 -2 0

—_
h
o

| ]
L
| ]

4.17

Options :

68634056969. 1
68634056970. 2
68634056971. 3
68634056972. 4

Question Number : 43 Question Id : 68634014426 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1 =1 2
afg 4=|2 3 4| T AP =0 +p4+y/. T o —2p -3y DIAFAT
1 -2 0
1. 56
2. 52
3. 44
4,17
Options :

68634056969. 1
68634056970. 2
68634056971. 3
68634056972. 4

Question Number : 44 Question Id : 68634014427 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



—
2

1 4 5
R_r.].k fti L 1 I.".
ank of the matrx 0 0 -1 7 18
|_2 2 B
1.4
2.3
3.2
4.1
Options :

68634056973. 1
68634056974. 2
68634056975. 3
68634056976. 4

Question Number : 44 Question Id : 68634014427 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1 0 1 2
0O 1 4 3
H1egg DI B -
0O 0 -1 7
|52 & =X @
1.4
2.3
2.2
4.1
Options :

68634056973. 1
68634056974 2
68634056975. 3
68634056976. 4

Question Number : 45 Question Id : 68634014428 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



If A is square matrix of order 4 and |4|=1, and |34d;(34dj(34) | = 3%, then value of a is:

1

| ]

4.

12

i
-2

102

201

Options :

68634056977.
68634056978.
68634056979.
68634056980.

A W N =

Question Number : 45 Question Id : 68634014428 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

afe 4 BIfE 4 BTl NG § TUT |4|=1. TUT 34d/(34d7(34) | = 3° TF o BT T &-

1.

[

4.

12

h
| ]

. 102

201

Options :

68634056977.
68634056978.
68634056979.
68634056980.

A W N =

Question Number : 46 Question Id : 68634014429 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The value of . so that the differential equation (x° +1°)dx + exy® dy = 0. will become exact. is:

1.

[

4.

-1

2

3

Options :
68634056981. 1
68634056982. 2



68634056983. 3
68634056984. 4

Question Number : 46 Question Id : 68634014429 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

o« @ 1Y HE & o0, 3add FHIHT (2 + 17)dx + ey? dy = 0 TUTAY § S0l
) V- dy

1.-1

| )
[

4.3

Options :

68634056981. 1
68634056982. 2
68634056983. 3
68634056984. 4

Question Number : 47 Question Id : 68634014430 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a9
d—g+3£'—ﬂ+9}'=sinx 1s

The particular integral of the differential equation :
dx” ax

1. (8sinx —3&:{15.\']

[ )

] l[St-'.ir:l.vr— 3cosx)
73

3 L(Sﬂinx—?&mﬁx}
73

4. % (8sinx —5cosx)

Options :

68634056985. 1
68634056986. 2
68634056987. 3
68634056988. 4

Question Number : 47 Question Id : 68634014430 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



@ﬂaﬁtﬂ‘“

v’ ax

 —giny PIARY IS © -

1. (Sﬁinx—f’rcusx]

| )

; %{Ssinx—Scosﬂ
3. L(ﬁﬂinx - 3005;:}
73

4. % (Rsinx—Scosr}

Options :

68634056985. 1
68634056986. 2
68634056987. 3
68634056988. 4

Question Number : 48 Question Id : 68634014431 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

¥
d°y  .dy -
= +Jd—J+9y=4cusx 1s

The complimentary function of a differential equation —

dx= X

o

o
S

|"“\

L]

=

m

.-:

_I_

|""\

E

Ix
e 2 (('] cOos 3J§x+ C, sinﬁ_-]

h, 2 ) 2

X

£ g2

343 343

{

C Los—x + C sin——x
‘\ 2
Options :

68634056989. 1
68634056990. 2

68634056991. 3
68634056992. 4

Question Number : 48 Question Id : 68634014431 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



T 3 Ha
AP FHIBRUT j;" +3;,i+9y=4w“ o SR
= X

3 v
—x + 5 85N
- >

[ ]

_3x
J.e 2 (('] cos 3;E:;+ Gy sin%x

e ( cnsﬁwc sm% ﬁ’
; 2 2
1Y ]

o [_— 33

)5—:{ + Cz sin—xJ
2

=
m

(
Options :

68634056989. 1
68634056990. 2

68634056991. 3
68634056992. 4

Question Number : 49 Question Id : 68634014432 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

2., .
The complete solution of differential equation d i 2? +y=06xe " is
dx” T

Cx* +Cx+C )

I._.'I

4
(('Ix +Cx* +C, )
3. (x3 + Cpx + Cj]e_r

4. (C‘]x+ C‘E].sf_Y

Options :

68634056993. 1
68634056994. 2
68634056995. 3
68634056996. 4

Question Number : 49 Question Id : 68634014432 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fal 2 7
ddb o GHIHI] ""_3 +2;£ +y=6xe™™ DPIHYU AR -

el X

: (Clx3 + Cy%+ (_‘3J€—-"

—

| )

(Cx*+Cx* +C)e™
2 (x3 +Cx + Cz]e_x

4. (C]x+ C‘z]e_x

Options :

68634056993. 1
68634056994. 2
68634056995. 3
68634056996. 4

Question Number : 50 Question Id : 68634014433 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

't 3
IfD:f—f.rhevalueof I I i 2 = |l
dx D+1 (1+.\'}_ (l+x)'
1.—1 =+& " C
(1+x)
1 i
% —2+€ C
(1+x)

" | _ e C

(1+x)”

—X
=+ g

L i

Options :

68634056997. 1
68634056998. 2
68634056999. 3
68634057000. 4

Question Number : 50 Question Id : 68634014433 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



(1 + .\'}2 (1 + A}

Options :

68634056997. 1
68634056998. 2
68634056999. 3
68634057000. 4

JE{IH?I%’-

Question Number : 51 Question Id : 68634014434 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

For a distribution. if values of the three quartiles are 4, 6 and 14, then Bowley's coefficient of skewness is:

1. 0.2

(B

0.6
3. 0.8

4,09

Options :

68634057001.
68634057002.
68634057003.
68634057004.

A W N =

Question Number : 51 Question Id : 68634014434 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



e & foru, afe 7 agdiet o1 a1 4. 6 0UT 14 €. T I BT G13 0N &:

1.02

|

.0.6
3. 0.8

4.09

Options :

68634057001. 1
68634057002. 2
68634057003. 3
68634057004. 4

Question Number : 52 Question Id : 68634014435 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The value of x for which the expression {l\ -1 2| - |x - ‘}‘ + l_‘f -1 4| + |x - ftr| + Ix -1 {}l + |x -1 [}{]” attains its

minimum value is

1.11

[ ]
|
o

4. 62

Options :

68634057005. 1
68634057006. 2
68634057007. 3
68634057008. 4

Question Number : 52 Question Id : 68634014435 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

x @ [0 AF & fAQ 9D (|x— 12| + | — 9] + |x — 14] + |x — 6] +|x = 10] +]x — 100]) 39 TFATH A TH
1. 11

| ]
| )
o



Options :

68634057005. 1
68634057006. 2
68634057007. 3
68634057008. 4

Question Number : 53 Question Id : 68634014436 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A cyclist pedals from his house to his college at a speed of 20 kimph and returns from his college to his house
at a speed of 30 kimph. His average speed (in kanph) 1s

125

!_J
| ]
=N

4. 22

Options :

68634057009. 1
68634057010. 2
68634057011. 3
68634057012. 4

Question Number : 53 Question Id : 68634014436 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U Higlbd YaR USH T §U S0 UR § 30 Siciel aeb 20 fepwl/dier &1 =1el 8 ST § 91 argd 3o
HIcl I O TR TP 30 [Hl /el ¥ ol 8| 39S 3ied 91 (fhHi/een & -

12§

L
| )
=N

s e

Options :

68634057009. 1
68634057010. 2
68634057011. 3
68634057012. 4

Question Number : 54 Question Id : 68634014437 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



If 4 letters are to be placed randomly in 4 correspondingly addressed envelopes. then the probability that none
of them goes to the right envelope is:

GO |

| )

o | LA

8
Options :
68634057013. 1
68634057014. 2

68634057015. 3
68634057016. 4

Question Number : 54 Question Id : 68634014437 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

afe 4 U=l &1 4 Td Id 910 freel & gefese 3@ Oar s, 99 999 o fordt & ot get forers & =8 oA
o1 Uil e-

o0 | tax

12
|

00 | ~a

Options :

68634057013. 1
68634057014. 2
68634057015. 3
68634057016. 4

Question Number : 55 Question Id : 68634014438 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Two numbers are selected at random from the numbers 1.2.3....... 24 with replacement. If 4 and B represent the

cvents that the numbers drawn are multiples of 4 and 5 respectively, then p(7 | py+ p(F | 4) 18 equal to

19
12

| )

Options :

68634057017. 1
68634057018. 2
68634057019. 3
68634057020. 4

Question Number : 55 Question Id : 68634014438 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

<l =Tt Tt sd 0 I HEa 1.2.3. ..., 24 T WO & 1Y AT Tl § | TG 4 TUT B Ie1ad &
S UDR il ¢ far FepTeli 7T WReud a4 GUT S U@ €. O9 p 7| p)+ p(F | 4) TR E -

19
12

[ ]

Options :

68634057017. 1
68634057018. 2
68634057019. 3
68634057020. 4

Question Number : 56 Question Id : 68634014439 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



For a distribution, if values of the Pearson's coefficients are f; = 0.09, B, = 4. then the moment based
coefficient of skewness is:

1
13
5 1
9
2
i
Q
3
4. et
10
Options :

68634057021. 1
68634057022. 2
68634057023. 3
68634057024. 4

Question Number : 56 Question Id : 68634014439 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

s & o, afe fUgRe T[uiep! &1 0 B, = 0.09. B, = 4 8. T4 dYH ST 1YYl SR U &:

1.
13
5 1
9
2
3._
9
3
4. el
10

Options :

68634057021. 1
68634057022. 2
68634057023. 3
68634057024. 4

Question Number : 57 Question Id : 68634014440 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



y)

If for some data B;=3, p,=9 and G° =5 then the value of et T
My

,_.
W |

| )

Options :

68634057025. 1
68634057026. 2
68634057027. 3
68634057028. 4

Question Number : 57 Question Id : 68634014440 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

af & oifes! & R0 p,=3. p,=0 AU % = 5. 79 12 oM -
Ky

[ ] —
(PSR LY

[FA S

L¥N]
—

Options :

68634057025. 1
68634057026. 2
68634057027. 3
68634057028. 4

Question Number : 58 Question Id : 68634014441 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A five-digit number with distinct digits is to be formed by using digits 0. 1, 2, 3, 4 and 5. The probability that
the number so formed is divisible by 3, 1s:

d | —

|

| ]

]
2o

k2|,
uul*”

Options :

68634057029. 1
68634057030. 2
68634057031. 3
68634057032. 4

Question Number : 58 Question Id : 68634014441 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3BT 0. 1, 2. 3. 4 TUT 5 & TN GRI UT 3] B =T §T5 9Id! &l 59 YHR a1 980 & 3 I fgurfeg
B4 &1 UIiliddl ¢ -

| )

Options :

68634057029. 1
68634057030. 2
68634057031. 3
68634057032. 4

Question Number : 59 Question Id : 68634014442 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



: ST ' e : : g
In a sequence of independent Bernoulli | 2 trails, the probability of getting three successes in 4 successive
"
trials is

ok
16

| )

2w

Options :

68634057033. 1
68634057034. 2
68634057035. 3
68634057036. 4

Question Number : 59 Question Id : 68634014442 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

W@Tﬂﬂ%: e & A H, 4 it wemi § di gwaare  ud 81 & wiiiedr s -

[

-

Options :

68634057033. 1
68634057034. 2
68634057035. 3
68634057036. 4

Question Number : 60 Question Id : 68634014443 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



In a sequence of tossing three coins simultancously. the probability of getting all heads or all tails for the
second time on fifth toss is:

27
iy

| B

9
;

Options :

68634057037.
68634057038.
68634057039.
68634057040.

A W N =

Question Number : 60 Question Id : 68634014443 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fﬂ:{ﬁaﬁéﬁw-mu 3B & b d H, 5dT I3Td W fgdig ar it fF=d a1 g4t ue urd 3 &t
WIS -

27
L=
2}
27
28

| )

Options :

68634057037.
68634057038.
68634057039.
68634057040.

A W N =

Question Number : 61 Question Id : 68634014444 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



If the sequence of 1.1.d random variables X;. X5 .... assume values —1 and +1 with equal probabilities then

Var (X) of X = Z X; is
i=1

b2 | —

| ]
—

Options :

68634057041. 1
68634057042. 2
68634057043. 3
68634057044. 4

Question Number : 61 Question Id : 68634014444 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

¢ i.i.d TEfEs® 9= Xy, X, ... BT ST -1 TUT +1 I §9H Widddl & 919 ddl 6. a9
X = X, ®I Var (X) 8-
1=1

4
2
2
3.n—-1
4. n

Options :

68634057041. 1
68634057042. 2
68634057043. 3
68634057044. 4

Question Number : 62 Question Id : 68634014445 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A symmetric die 1s thrown 600 times. Using Chebychev's inequality. the lower bound of probability for getting
80 to 120 four's. 18

19
24

b2

1
2

| —

e

Options :

68634057045. 1
68634057046. 2
68634057047. 3
68634057048. 4

Question Number : 62 Question Id : 68634014445 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i,

g FHH YT 600 AR Wbl Siidl 8 | Dferid SR & WM gRI, 80 F 120 R IR WK B3 & fe
Al BI (3 UREH g -

19
24

| ]

| — r3 | —

==

Options :

68634057045. 1
68634057046. 2
68634057047. 3
68634057048. 4

Question Number : 63 Question Id : 68634014446 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



1

The moment generating function of random variable Xis given by M (t‘ } = 7, 0<I<® then
(9-8¢)

PX=1Dis:

1 l-—
17”

Options :

68634057049. 1
68634057050. 2
68634057051. 3
68634057052. 4

Question Number : 63 Question Id : 68634014446 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TrEfse =R X1 SATYUIGHS Bar QAT e: M_(r)= J H.—co.frmcaapf_r:gl)%-
[9-86’)
9
N
8
2=
5
1
1
4 1-—=
17’

Options :

68634057049. 1
68634057050. 2
68634057051. 3
68634057052. 4



Question Number : 64 Question Id : 68634014447 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The moment generating function of random variable X is given by »r ()= —w<tea then

E((Xx 234]'15:

[ ]
[ )
hn
L]

4. 450

Options :

68634057053.
68634057054.
68634057055.
68634057056.

A W N =

Question Number : 64 Question Id : 68634014447 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Urefwsd dR X P Sﬂtg\ui\ﬂ-ﬂqa e (S T E - .\fﬁ[f}—ez’—ﬁ‘:‘_.ﬁ:,{ ; ﬂah‘l(k 2,4_]%_

4, 450

Options :

68634057053. 1
68634057054. 2
68634057055. 3
68634057056. 4

Question Number : 65 Question Id : 68634014448 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The mode of Binomial distribution with parameters n =21 and p = 0.3, is:

1.9

[
sl

4.

L

Options :

68634057057. 1
68634057058. 2
68634057059. 3
68634057060. 4

Question Number : 65 Question Id : 68634014448 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fgue e, (59 U n =21 Ul p = 0.3 §. DI 95D ©

159

2
oo

4.

ny

Options :

68634057057. 1
68634057058. 2
68634057059. 3
68634057060. 4

Question Number : 66 Question Id : 68634014449 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Let the joint probability mass function of the random variables X and Y be given by

FEATERS
PlX=x,V=y]= ‘ - S| ap=0,12, . 5x=012,...
21 pj\3)

“ otherwise

then E(X) is equal to

L |

b=
| ]

4.4

Options :

68634057061. 1
68634057062. 2
68634057063. 3
68634057064. 4

Question Number : 66 Question Id : 68634014449 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

O Alel=5e == X aUT Y &1 G4a Widdl 5o0dH Bad [Gar 1l g

P(X=x,Y=y)=] ?'ml D=0 L2 R =12 e
0o ki
dgE(X) RE & -
1.1
2.9
3.3
4.4

Options :

68634057061. 1
68634057062. 2
68634057063. 3
68634057064. 4

Question Number : 67 Question Id : 68634014450 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The variance of t-distribution with 18 degree of freedom i1s:

1.1

[
ok
—
|

N

4.2

Options :

68634057065. 1
68634057066. 2
68634057067. 3
68634057068. 4

Question Number : 67 Question Id : 68634014450 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

18 TGAd] B DI B t-dcd DT TR0 © -

1.1

[ S

s 123
305
4.2

Options :

68634057065. 1
68634057066. 2
68634057067. 3
68634057068. 4

Question Number : 68 Question Id : 68634014451 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



X,

It X,.X,.....X, be a random sample from normal population .-'\.-’({L 0_2) and I| ¥2 then sampling
n;
distribution of — 1is
n
1 n-1
]. Bz s ]
i i
(1 n-1
2.8 | =;
2. 2
2
3. !{”_”
2
4. .-f{ )

Options :

68634057069. 1
68634057070. 2
68634057071. 3
68634057072. 4

Question Number : 68 Question Id : 68634014451 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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X
M X, Xs..... X THH THE w0, 67 ) Y urefse T g aur E w CARYIRER]
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L
P
b | —

=
3
gt
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T
b | =

=
B2
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2
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Options :

68634057069. 1
68634057070. 2
68634057071. 3
68634057072. 4

Question Number : 69 Question Id : 68634014452 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If X follows the Binomial distribution with parameters n=100 and p=0.5, then approximate distribution of
| ] U] 18:

| N(p:SU,Gz =25]

oy

[

N(p =50, 0% =250)

2
X @

2
L

Options :

68634057073. 1
68634057074. 2
68634057075. 3
68634057076. 4



Question Number : 69 Question Id : 68634014452 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

: & .
A& X W n=100 TUT p=0.5 & 1Y [GUS de BT 3FTH0 Pl 5, 48 \—S—m) HIgHe e 6 -
L

-2
.:e:
—
=
I
Lhn
=
a
|
I
[ R
L
=
R

2
4%

Options :

68634057073. 1
68634057074. 2
68634057075. 3
68634057076. 4

Question Number : 70 Question Id : 68634014453 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



T

b
Let X1.X5.....X,; be a random sample from the normal population N (M| e ) and let

l L

I H

-
also) from the normal population N (p 7:0 < ) and let S'% = (}; — Y] . Then the distribution

=1 15

¢ (m=1) &7 4 (n=1) 82

18

o2
2

L x[m—n—z}
2

2. x{mﬂ]—[}

3. t(m +n—3)
4. t(m +n—1)
Options :

68634057077. 1
68634057078. 2
68634057079. 3
68634057080. 4

Question Number : 70 Question Id : 68634014453 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



I. i 25 2
$ (2, 2 o

r=|

HEER X Xmmﬂmwf@N(u,,az) 3 ey TATE auT S =

m—

1 2 .
522: 1 Z(Y;—?)Z Iﬁa(m—l).s] -I;(H—])Sz o
L -1 =1 5°
=
L xﬂrr*n—z}
2

-2

; x(m—m—l]

't(m—n—ﬂ}

4. t(m—u— 1)
Options :
68634057077. 1
68634057078. 2
68634057079. 3
68634057080. 4

Question Number : 71 Question Id : 68634014454 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If X and Y are 1.1.d.Uniform(0, 1) variates. then the moment generating function of 2X - Y. 1s:

[
L1t
L

o
] -z
e”! —(-E"r — g l!)—I
% 2
2t
Options :

68634057081. 1
68634057082. 2
68634057083. 3
68634057084. 4



Question Number : 71 Question Id : 68634014454 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A X AU Y 1.4.d.UHIHM (0. 1) AR 8. T9 2X - Y FT UGS B &

b2
n
L

3. ]
2t°
p) i
e —(lef —€ ‘r)—l
4.
242
Options :

68634057081. 1
68634057082. 2
68634057083. 3
68634057084. 4

Question Number : 72 Question Id : 68634014455 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

-
o

= ; g X+Y
If X and Y are independent standard normal variates. then distribution of (
X-Y

o |
1. Beta Type-II with parameters kz ' E]

2. Beta Type-II with parameters (2, 1)

3. Beta Type-II with parameters (1, 2)

i
4. Beta Type-I with parameters L%. %J
Options :
68634057085. 1
68634057086. 2
68634057087. 3
68634057088. 4

Question Number : 72 Question Id : 68634014455 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

g ol
gfe X a1 v a4 5HS WEEE ﬁdi%.ﬁﬂ{jf”} Pl Ec e-
11
1. U=Ed 5 & 1Y i WhR-1I

2. WG (2. 1) & HIY §ieT HhR-I

3. UM (1, 2) & HIY SieT UHR-I

Options :

68634057085. 1
68634057086. 2
68634057087. 3
68634057088. 4

Question Number : 73 Question Id : 68634014456 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

v - 5 | LA = -7
Let X;.X,........X,, be a random sample from normal population N (p, Gl) . Define §° = s ¥ (X, -X) and
4 % rel
T= (X-4)V" gen (cov(X.7))is -
g . )

b2

Options :
68634057089. 1



68634057090. 2
68634057091. 3
68634057092. 4

Question Number : 73 Question Id : 68634014456 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
T X X;........ X, TEHTT GHE N(ll,ﬁl) A0 Uefoe ufdedf 31 aRyfia g - - 3 (x,- %)

r

|
n—1

HUPF_(K_ﬁhﬁxﬂﬁ(mwﬁiTn%-

-2
o]
i
=
|
——
i?a
Nll
h SR

[m—1
A4 g —
Y2 |fn 1

Options :

68634057089. 1
68634057090. 2
68634057091. 3
68634057092. 4

Question Number : 74 Question Id : 68634014457 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



2 1 j = 1 =2 2 (a‘:i;f—l]ii‘lz+{r.=—l)S§2 .
S = X = X) 85 =—r0 E=Y] :8,= “ is .
L = ,Z_]( ( ! ) 25,1 E ( ) ! T and ¢~ 1s unknown. then

under Hiy 1|1y =15 . is

2. N(0. 1)

S't(m—n—ij

4. T(m +n-1)
Options :
68634057093. 1
68634057094. 2
68634057095. 3
68634057096. 4

Question Number : 74 Question Id : 68634014457 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



m W > (m=1)S2+(n-1)83

S = 1_ Z[XJ'_)_() 85 = IZ(};—F)E.S}?

=] n r=1

U o° 3T 6. a9

m+an—2

 Hy:py =p, Prdcag

[ ]

.N(0. 1)

S'T(m—n—ij

s

: T(m +n-1)
Options :
68634057093. 1
68634057094. 2
68634057095. 3
68634057096. 4

Question Number : 75 Question Id : 68634014458 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The joint probability density function of two random variables X and Y 1s given as:
~(x+y)

‘ e ,x>0and y>0
f(x, J) = £
0 , otherwise

Then value of P(2X > 3Y) 15 :

._.
-1t

[ ]

19
—1. —
20

Options :
68634057097. 1
68634057098. 2

68634057099. 3
68634057100. 4

Question Number : 75 Question Id : 68634014458 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

<l TrefEsd 9RI X TUT Y &1 $gad Widedl O-d e 59 TR g -

—{x+y) ,
f(x,_v}= e ,L x>0 Tamy >0

AT

dEP2X>3Y)HTOA G -

e —1 | Ln

| B

-1

19
20

Options :
68634057097. 1



68634057098. 2
68634057099. 3
68634057100. 4

Question Number : 76 Question Id : 68634014459 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Xy 1 2 3
. wiim : : : s 0 g 2p 3p
The joint probability mass function of two random variables X and Y 1s given as: | where
2p 4p 5p
2 ip 5p Tp
1

P==
32

Thenvalue of P(X <1 [¥Y=2)+P(Y=2 |X=1) 1s:
15
11
8

11

[ ]

1
2

P
22

Options :

68634057101. 1
68634057102. 2
68634057103. 3
68634057104. 4

Question Number : 76 Question Id : 68634014459 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



<l Urefese <RI X 091 Y BT §ga Uil soiHH Ber o8 YR 3 -

Xy 1 2 3
0 p 2p 3p =
.Gl
I 2p 4p 3p £ 32
2 ip Sp Tp

dEP(X<1[Y=2)+P(Y>2X=1)BIHAA®

15
11

[ ]

(
g o
22

Options :

68634057101. 1
68634057102. 2
68634057103. 3
68634057104. 4

Question Number : 77 Question Id : 68634014460 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If f (_x,_]') = i_\.jsz.ﬂ <x< '32—)1 < y < 2then value of E(X) 1s :

W | Lh

[
| Lh

|

6
Options :
68634057105. 1

68634057106. 2
68634057107. 3



68634057108. 4

Question Number : 77 Question Id : 68634014460 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

afe _f'{x,_L'}Z%.{L'E.G < x»-:lz—:r <y<2 WE[X)WW%

(%]
|

| -

Options :

68634057105. 1
68634057106. 2
68634057107. 3
68634057108. 4

Question Number : 78 Question Id : 68634014461 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The joint probability density function of two random variables X and Y is given by

I I
——,l<x<wand—<y<x

flxy)=q2xy X
0 ., otherwise

1
Then the value of E [—3} 15
X.-

[ ] —_
~ | = -1 | Lh

| b

O | —

Options :

68634057109. 1
68634057110. 2
68634057111. 3
68634057112. 4

Question Number : 78 Question Id : 68634014461 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



&l grefese @RI X Y1 Y 1 9 WIiedl 99d Bad o8 YOR &1 g -

1 1

: s l<x<oma —<y<x
f(x,y)=42x%y X

] =T

2

a@ E{% PIAEE

]
Lh | b2 ~1| =

ot

Options :

68634057109. 1
68634057110. 2
68634057111. 3
68634057112. 4

Question Number : 79 Question Id : 68634014462 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



For a sequence of random variables X, X,.......let
Var (X;)=o" and for i # ]

o |i-jl=1,2

Cov (X;, X;) =1 .
4 0 otherwise

Then this sequence of random variables shall follow the weak law of large numbers for

1. g>1

[ ]
a
W
-3

3.0>3

4. any finite values of G

Options :

68634057113. 1
68634057114. 2
68634057115. 3
68634057116. 4

Question Number : 79 Question Id : 68634014462 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

o, li-j|=1,2

T Cov (X;, X)) = {ﬂ

a9 gref=se =R &1 48 pH g9 U3 & dHGR U W iy A1 & fo7u o] g1 -

1. 6>1

[ ]

o>2

3.0>3

4. ¢ @ g g g A @)

Options :
68634057113. 1
68634057114. 2



68634057115. 3
68634057116. 4

Question Number : 80 Question Id : 68634014463 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The joint distribution of two random variables X and Y is

Fixp)= % e, l<x<4, 0<y<w

Then Var (Y) 1s

L1 4(log,2)”

3 9
3 _I_4[Iugc,2}
2 9
4. 4(log,2)’
9
Options :

68634057117. 1
68634057118. 2
68634057119. 3
68634057120. 4

Question Number : 80 Question Id : 68634014463 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Eﬁﬂﬁ’%ﬂff}(ﬁ%ﬂ‘fﬁ%aﬁf(x,y]=§€_”,1<x¢4, 0<y<ow g a9 Var(Y)®s-

11 4(log,2)

3 9
3.1 4(log,2)
2 9
4, 4(l0g,2)’
9

Options :

68634057117. 1
68634057118. 2
68634057119. 3
68634057120. 4

Question Number : 81 Question Id : 68634014464 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Let WLLN hold good for the uniformly bounded sequence of random variables X, X....

. Varl X+ X+ + X -
Then condition (X, 2 n) T I

n
1. Necessary for =0
2. Sufficient for . =0
3. Necessary and sufficient for A =0
4. Necessary and sufficient for L = «
Options :
68634057121. 1
68634057122. 2

68634057123.3
68634057124. 4

Question Number : 81 Question Id : 68634014464 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



M A ® R X, Xo.... P THHAM URES 36T & [ WLLN T 81 79 wfady

Var(X) + Xy +...+ X,,) 05 g
= — b

I

—

.= 07 foTu ravgs
=0 forg gale
3.0 =0 & foru sawas qur gaTd

4.0 = o & [OT TGS a1 T

| E)

Options :

68634057121. 1
68634057122. 2
68634057123. 3
68634057124. 4

Question Number : 82 Question Id : 68634014465 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

[3%]

270
Suppose two random variables X and Y are such that X ~ Uniform (0. 2)and Y | X = x ~ U [U,% J Then

.,

E(XEYzj 1s equal to

Y

!_J
|

Options :

68634057125.
68634057126.
68634057127.
68634057128.

BN O R S R

Question Number : 82 Question Id : 68634014465 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



O ol 3 el 91 X dUT Y SU UPR ¢ fib X ~ UHUHH (0, 2) AU Y| X = x ~ u(o,%} a9 E(X2Y?)

WA &

X

!_J
e 8

Options :

68634057125.
68634057126.
68634057127.
68634057128.

AW N =

Question Number : 83 Question Id : 68634014466 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

%
Let X}, X,,..... X, be a random sample from population 1/ ({] —%ﬁ 0+ %J, 0 >0 . The maximum likelihood

Xy — X,
2 X~ X0
2

+1

Options :

68634057129. 1
68634057130. 2
68634057131. 3



68634057132. 4

Question Number : 83 Question Id : 68634014466 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

O X, X,s,.... X, GHP n[n_%,m%}n:}n 4 U Ui e 81 6 @1 eifieman Guifad e
f

)
2

" X _X[H}

| ]

Options :

68634057129. 1
68634057130. 2
68634057131. 3
68634057132. 4

Question Number : 84 Question Id : 68634014467 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Let X}, X5,..... X, be a random sample from population with probability density

function f(x)=2e=2" %) .x >0 and 8 >0. Then estimate of by method of moments 1s:

>
I

[
<l

EE.
LN
=

Options :
68634057133. 1
68634057134. 2



68634057135.3
68634057136. 4

Question Number : 84 Question Id : 68634014467 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

B

(W)
(]
|

4.3

=

Options :

68634057133. 1
68634057134. 2
68634057135. 3
68634057136. 4

Question Number : 85 Question Id : 68634014468 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Let X} X,,..... X, be a random sample from the exponential distribution with mean 26. Then I(8). the Fisher's

maximum information about the unknown parameter 6 contained in its unbiased estimator is

[ ]

0

Options :

68634057137. 1
68634057138. 2
68634057139. 3



68634057140. 4

Question Number : 85 Question Id : 68634014468 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

EIX,, X, X, TRUS] ded 3 U dleiwsd =¥ § (o] H1ed 26 | 76 SHR1d Wid 6 & 9RI SR, &l
Bﬂ%mﬁmﬁwﬁ&mﬁg% IR BT HfTFad I 1(6) B

| )

Options :

68634057137. 1
68634057138. 2
68634057139. 3
68634057140. 4

Question Number : 86 Question Id : 68634014469 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



It X, X,,.... X, be a random sample from N[p. = ﬂ_qz]_ o? is unknown and 5 _ (X - BJ J i where

5 (n-1)

) 1 «f =12
N w— (X,- - X) and P(T>t,,)= % Then 100(1 - o) % confidence interval for 8. is:
=15 ' ’ !
= 8 = 8 )
(T T gt

= .8 = . 8
*'("f‘ﬁ’uﬁ*“ﬁ‘aﬂ)

Options :

68634057141. 1
68634057142. 2
68634057143. 3
68634057144. 4

Question Number : 86 Question Id : 68634014469 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



S X, X5,.... X, . N(n=0.0") V UETDD HideL 8. ;2 SRIT e U Tz{;?_?)J; W ool aul
P(T}Iﬁ__ﬂ:%.ﬁa@%%m 100(1 - o) % [RATAT SA & -

NG SEL NP S B
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Options :

68634057141. 1
68634057142.2
68634057143. 3
68634057144. 4

Question Number : 87 Question Id : 68634014470 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Let X} X,,...X be arandom sample from the uniform (6 — @. 8 + @)population. If the maximum sample

observation is Xy, and the minimum sample observation 1s Xi;). then maximum likelihood estimator of 6.1s:
1. Xy

Xy + )
2

3. Xp

Xy =Xy
2

4.

Options :

68634057145. 1
68634057146. 2
68634057147. 3
68634057148. 4



Question Number : 87 Question Id : 68634014470 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

X)X, X, T EH GHIP (6 - 0. 6 + 0) J ATEfes® Uidad €1 Afd siftedan widag Haml x,, g aul
AqH widas H&U1 Y, €. 9 ¢ Bl BT YU b §

1. Xy,

2. X )
2

3. Xy

4. X~ X0
2

Options :

68634057145. 1
68634057146. 2
68634057147. 3
68634057148. 4

Question Number : 88 Question Id : 68634014471 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The Cramer Rao lower bound of an unbiased estimator, in case sample of size n is drawn from
Cauchy (20, 1) population, is
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Options :

68634057149. 1
68634057150. 2
68634057151. 3
68634057152. 4

Question Number : 88 Question Id : 68634014471 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634057149. 1
68634057150. 2
68634057151.3
68634057152. 4

Question Number : 89 Question Id : 68634014472 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

For a normal distribution, quartile deviation. mean deviation and standard deviation are in the ratio:
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Options :
68634057153. 1
68634057154. 2

68634057155.3
68634057156. 4

Question Number : 89 Question Id : 68634014472 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
68634057153. 1
68634057154. 2

68634057155. 3
68634057156. 4

Question Number : 90 Question Id : 68634014473 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If Ty and T> are two distinct unbiased estimators of »(8) and T= E[Tf sz . then:

1. Var(T] == Var(?])

2 E(T) 2% (6)
5 E(7)227(0)

Options :

68634057157. 1
68634057158. 2
68634057159. 3
68634057160. 4

Question Number : 90 Question Id : 68634014473 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634057157. 1
68634057158. 2
68634057159. 3
68634057160. 4

Question Number : 91 Question Id : 68634014474 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

From a normal population with standard deviation = 4. a random sample of size 16 with mean = 27 is selected.
For testing Hj;:)1 =30 against H,:u#30 . the p-value of the test is

[If X~N (0. 1). then P[|X| < 1]=0.6826. P[|X| < 2] = 0.9544, P[[X| < 3] = 0.9973
1. 0.0027
2. 0.0456
3.0.3174
4. 0.1960

Options :

68634057161. 1
68634057162. 2
68634057163. 3
68634057164. 4

Question Number : 91 Question Id : 68634014474 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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[afé X~N (0. 1). T8 P[[X| < 1]=0.6826. P[|X| < 2] = 0.9544, P[[X| < 3] = 0.9973

1. 0.0027

b2

. 0.0456
3.03174

4, 0.1960

Options :

68634057161. 1
68634057162. 2
68634057163. 3
68634057164. 4

Question Number : 92 Question Id : 68634014475 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A random sample is drawn from the normal population with parameter (i, 100). In a test of Hy 1 =H,
against ) :[L # g . ais the value of the test statistic computed from the sample.

If P[Test statistic < a] = 6. then the p-value of the test 1s
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Options :

68634057165. 1
68634057166. 2
68634057167. 3
68634057168. 4

Question Number : 92 Question Id : 68634014475 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Pis Arefase Uidax] FHTHR SafP 9 HesTe Sl ¢ [ W=d (u,100) 81 M, :u=n, & i
Hy:p =p, @ ORI&01 . Ufdast 9 qRiaon ufiasicl sifierild 10 o 8131 P[HidaRiel TRie < a] =5,
a9 GRI&{0 & p-qH § -

b | o

[ ]
—
|
L=y

4.2(1-9)

Options :

68634057165. 1
68634057166. 2
68634057167. 3
68634057168. 4

Question Number : 93 Question Id : 68634014476 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A random sample of size 100 is drawn from the normal population with parameter (1(}, 62] for testing

2 : 2 : i
H, g% = Op against H| 162 > ol If a 1s the value of the test statistic computed from the sample and P[Test

statistic < a]=1-0, then the p-value of the test 15
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Options :

68634057169. 1
68634057170. 2
68634057171. 3
68634057172. 4

Question Number : 93 Question Id : 68634014476 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634057169. 1
68634057170. 2
68634057171. 3
68634057172. 4

Question Number : 94 Question Id : 68634014477 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

From normal population with standard deviation = 4, a sample of size 16 units has mean = 32 is selected. For
testing £ 1)t =30 against A, : p # 30 the p-value of test is:

[If X ~ N(0,1), then P(| X|<1)=0.6826, P(| X |<2)=0.9544, P(| X |<3)=0.9973]

1.0.0013
2.0.0356
3. 0.0456

4. 0.2060

Options :

68634057173. 1
68634057174.2
68634057175. 3
68634057176. 4

Question Number : 94 Question Id : 68634014477 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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[Erﬁ: X~ N(0,1),dd P(| X|<1)=0.6826, P(| X|=<2)=0.9544, P(| X|<3)=0.9973]

1. 0.0013

2

. 0.0356
3. 0.0456
4. 0.2060

Options :

68634057173. 1
68634057174. 2
68634057175. 3
68634057176. 4

Question Number : 95 Question Id : 68634014478 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Let X;,i=12,3,4 be arandom sample of size 4 from Bernouli distribution with the parameter 0(0 < 0 < 1).

: ; ] ; : . 1 T S
For testing the null hypothesis H,:0 = 3 against the alternative hypothesis H,:0 > 3 the rejection region is

X+ Xy + Xy + X, > 2 Tf 7(0) 1s the power of the test, then the value of 28*,-'(:]{). 18
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4.13

Options :

68634057177 1
68634057178. 2
68634057179. 3
68634057180. 4

Question Number : 95 Question Id : 68634014478 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634057177. 1
68634057178. 2
68634057179. 3
68634057180. 4

Question Number : 96 Question Id : 68634014479 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The parameters of a BIBD are (11. 11. 5, 5. 2). The parameter of its compliment design will be:

1.(11.11. 6, 6. 2)

[

(11,11, 6,6.3)
3.(11.11, 6, 5. 2)

4.(11,11,6,5,3)

Options :

68634057181. 1
68634057182. 2
68634057183. 3
68634057184. 4

Question Number : 96 Question Id : 68634014479 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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111, 11,6,6.2)

-2

(11,11, 6, 6. 3)
3.(11.11,6. 5. 2)
4.(11,11,6.5.3)

Options :

68634057181. 1
68634057182. 2
68634057183. 3
68634057184. 4

Question Number : 97 Question Id : 68634014480 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The error degree of freedom for Randomize Block design with ¢ treatments each replicated r times and having
one missing observation is:

LG D12

2.(r=1)(t-1)-1
% r=1)e=1)
4.(r-D-1)+1

Options :

68634057185. 1
68634057186. 2
68634057187. 3
68634057188. 4

Question Number : 97 Question Id : 68634014480 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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i =13-2

2. (r—1)t-1)-1
3.r—1(z-1)
4. (r—1)t-1)+1



Options :

68634057185. 1
68634057186. 2
68634057187. 3
68634057188. 4

Question Number : 98 Question Id : 68634014481 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

To test the significance of variation between the doctors treatment at 5% level of significance, five doctors.
Each doctor test five treatments for a certain disease and observe number of days each patient takes to recover.
In ANOVA table if sum of squares between doctors 1s 24 units and Error sum of squares 1s 32 units then the
value of F-Statistic for testing that there 1s no significant difference between doctors 1s:
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4. 4.8

Options :

68634057189. 1
68634057190. 2
68634057191. 3
68634057192. 4

Question Number : 98 Question Id : 68634014481 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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3.2
3.36
4.48

Options :

68634057189. 1
68634057190. 2
68634057191. 3
68634057192. 4



Question Number : 99 Question Id : 68634014482 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

To test the significance of variation between the doctors treatment at 1% level of significance, six doctors.
Each doctor test five treatments for a certain disease and observe number of days each patient takes to recover.
In ANOVA table degree of freedom of variation in error 1s:
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Options :

68634057193. 1
68634057194. 2
68634057195. 3
68634057196. 4

Question Number : 99 Question Id : 68634014482 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

I d & 1% &R TR Sige3d & Saral & g [9a0] & Iriedr & geu & o, ¢ siaee fadt Afdaa
I & foT0 G&01 & 5 SaT 9aTd & Ul Ud® 00 & Sl 514 & fo1 I = &7 Hgaie Hd o
ANOVA IRUf  fa=ror # 3fe ot wWaar dt Hife & -
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Options :

68634057193. 1
68634057194. 2
68634057195. 3
68634057196. 4

Question Number : 100 Question Id : 68634014483 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



If we delete one block from symmetric BIBD and from the remaining blocks delete all those treatments which
belong to the deleted block. then the resultant BIBD is:

1. Resalvable BIBD
2. Derived BIBD
3. Residual BIBD
4. Natural BIBD
Options :
68634057197. 1
68634057198. 2

68634057199. 3
68634057200. 4

Question Number : 100 Question Id : 68634014483 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634057197. 1
68634057198. 2
68634057199. 3
68634057200. 4
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